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QUESTION 1

To avoid the purchase of new server capacity, a company must limit the volume of messages routed to a
computationally expensive RESTful service operation.

Which Oracle SOA Suite component can help the company meet this requirement?
A. BPEL process

B. Mediator

C. Proxy Service

D. Business Service

Correct Answer: D

QUESTION 2

Which two statements are true about composite applications and mediators?

A. A composite application decouples the interface from business logic.

B. A composite application exposes a process as a web service.

C. A mediator exposes a process as a web service.

D. A mediator decouples the interface from business logic in a composite application.

Correct Answer: BD

QUESTION 3

Which statement is true about the skip condition in a BPEL activity?

A. The activity gets executed hen the skip condition expression evaluates to True.
B. The skip condition expression is evaluated before the activity instance is created.
C. The activity gets executed when the skip condition expression evaluates to False.
D. The activity gets executed when the skip condition expression throws a fault.

Correct Answer: C

QUESTION 4

To support invocation of a SOAP web service from BPEL, you import the WSDL of the web service into your SOA
project. The local WSDL copy contains no partner link types. You create a partner link for the web service in the BPEL
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designer.

How does JDeveloper ensure the request partner link types are provided?

A. It automatically creates a wrapper WSDL to contain partner link types.

B. It automatically injects the partner link types into the local WSDL copy.

C. It prompts you to add the partner link types to the SOAP web service implementation.
D. It prompts you to manually add the partner link types to the local WSDL copy.

Correct Answer: A

QUESTION 5

Identify two reasons why Oracle Cloud Adapters make it easier to integrate a SOA Suite application with a cloud-based
application.

A. They shield the developer from needing in-depth expertise on the functionality of the cloud- based application.

B. They help the developer master the intricacies of the cloud application\\'s data model and mechanisms for security
and session management.

C. They come with a configuration wizard that is accessible from Enterprise Manager.
D. They free the developer up to focus on building the business logic for related business processes.

Correct Answer: AC
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